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10. During the life of the patent, the market of a product is inefficient T
11. Without patents, the price of a new product would be higher than its unit production cost. T
12. Patents lead to an unfair distribution of income from consumers to the owners of the patent F
13. A patent of a life-saving drug leads to a dilemma for which there is no feasible solution F
14.The net benefit of consumers from a new product is higher during the life of a patent than after the patent expires F
15. Patents allow innovators to capture all the benefits generated by their new products – except those that go to consumers F
16. The overall gain that a new product generates for society is the present value of all the future profits of the innovator plus the present value of all the future consumer surpluses (both during and after the patent) F
17. According to the model studied in our lectures, without patents the number of innovations generated in a country would be equal to zero T
18.As a result of patents, all inventions leading to a social benefit greater than their cost tend to be actually created F
19. There are two types of publicity: informative and persuasive publicity. Informative publicity lowers the price of products F
20.There are two types of persuasive publicity: glamorous and repetitive publicity. Both lead to higher prices, but in the case of glamorous publicity consumers get something in exchange for those higher prices T

21.According to our lectures, the advertisement of the price of a product  lowers its average market price for just one reason: firms of the cheaper brands advertise more and therefore increase their market share F
22.To solve the problem of the double mark-up, Ola may charge the beach bars a price with two parts. The purpose of the first part is to create an incentive for the beach bars to charge the public the price that extracts the maximum possible profit from consumers. The purpose of the second part of the price is to transfer all that profit from the beach bars to Ola. As a result, the beach bars end up with zero profits F (The reason: only excess profits will be taken away from the beach bar; this will thus end up with normal profits, not zero profits).
23.The price of Ola ice-creams charged in the Portuguese beaches in the case of vertical integration is equal to the price charged if any of the three solutions for the double mark-up  problem is adopted F
24.Assume a linear demand curve directed to Ola’s ice creams sold in Portuguese beaches. The profits of Ola will be larger with vertical integration than if it sells ice creams through beach bars without applying measures to prevent the double mark-up T
25.The double mark-up harms not only the beach buyers of ice-creams but Ola company as well T
26. Whatever its motivation, a merger tends to increase the joint profits of the two companies that merge F
27.Both a takeover and the threat of a takeover tend to worsen the performance of the targeted company F
28.In some cases, the board of directors of a company can make crucial decisions at the expense of shareholders T
29. A motivation for a vertical merger is the reduction of transaction costs whereas a motivation for a horizontal merger is the increase in the price charged to the public T
Some TF questions about the topics of the 1st test of this year.
1.The unit variable cost drops as output rises up until full-capacity.

2. Businesses don´t try to minimize costs. One reason is that that would make them lose many regular customers

3. Competition prevails in most manufacturing sectors
4. Under competition, increases in demand lead, in the long-run, to increases in output but not in prices nor in the profit rate.
5. Under competition, increases in demand lead, in the short-run, to increases in output but not in prices nor in the profit rate.
6. In the long-run but not in the short-run, depending on the market price individual producers of primary commodities sold in competitive international exchanges either operate at full-capacity or do not produce at all.

7. The demand curve directed to a monopolist is quite flat

8. Monopolists usually have big fixed costs
9. A monopoly price has essentially one negative effect: it leads to an unfair appropriation of consumers’ income by the monopolist.
10. If the price is higher than the unit production cost, there is economic inefficiency.

11.To register a patent the inventor of a new technology is obliged to provide a detailed description of the way it is designed.
12. Garbage collection is not an example of a natural monopoly because, unlike water distribution, it does not imply a physical infrastructure.
13. Consider the two different competitive auctions used to select the company for a new industry where there is space for only one company. In none of the auctions will the selected companies end up enjoying excess profits.

14. Both Bertrand and Chamberlin assume rational expectations.
15. Suppose the market demand curve for petrol is known with certainty. If BP and Repsol raise their prices towards the monopoly level, Galp has an incentive to accompany them – because its profits will be higher both in the very short term and in medium and long terms as well. 
16.In oligopolistic industries with high fixed costs and tiny unit variable costs, a decline in market demand may lead to the break-down of an implicit price agreement.

See also three questions  (with a note “1st test”) in the following test (the 2nd of  last year).

1. If products like ‘Question Marks’ did not exist, the management of the life-cycle of products would still be a motivation for diversification
2. The reduction of risk can be a motivation for diversification. One reason is that lower risk may ultimately lead to lower taxes. 
3. From the point of view of shareholders, the lower variability of profits of a diversified company is not a great advantage in itself
4. The price of a flat in Manhattan, New York, is mainly determined by the high cost of building in the center of New York 1st test
5. If better public transports are built between Lisbon and Oporto, the price of flats in the center of Lisbon will not be affected 1st test
6. If a linear demand curve directed to a company in imperfect completion shifts leftward while its slope remains unchanged, the profit maximizing price will fall
7. Assume linear demand curves. If monopolistically competitive firms could observe the demand curves directed to their products, they would cut their prices more often during recessions 
8. When companies adopt ‘normal cost pricing rules’, their actual profit rate depends on the level of demand, and they may be unable to pay their fixed costs 1st test
9. Prices charged by shops tend to be observed on a continuous basis only by their regular customers. As a result, when the demand directed to those shops falls, price cuts are more likely than they would otherwise be
30. A ‘Question Mark’ is a product with a small market share in a market that has already grown significantly, whereas a ‘Star’ is a product with a large market share in a small market with growth prospects
31.A ‘Question Mark’ must spend more money in publicity than a ‘Star’
32. A firm can only discriminate its prices if it has some market power and is able to distinguish between the willingness to pay of different types of consumers.
33. Consider a monopolistic company that supplies a certain service with a zero unit variable cost. The demand function for the service is identical for all consumers. To maximize its profits, the firm should calculate the market demand function (by adding up the demand functions of the individual consumers), and then sell each individual unit at a price that maximizes the total revenue.
34. Consider a monopolistic company that supplies a certain service with a zero unit variable cost. The demand function for the service is identical for all consumers. In this case, profit maximization will lead to inefficiency (i.e., a waste of welfare).

35. Consider a monopolistic company that supplies a certain service with a zero unit variable cost. There are two types of consumers – moderate and intensive consumers. Between them, all moderates have identical demand functions. The same happens between intensive consumers. If the company does not discriminate prices, it will extract either the whole willingness to pay from the moderates, or the whole willingness to pay from the intensive consumers. By contrast, price discrimination allows the company to extract the whole willingness to pay from both types of consumers.
36. Consider a monopolistic company that supplies a certain service with a zero unit variable cost. There are two types of consumers – moderate and intensive consumers. Between them, all moderates have identical demand functions. The same happens between intensive consumers. Once having destroyed the quality of the service provided at a lower price to the moderates, the company cannot raise the price charged to the intensives to a level high enough to extract their whole willingness to pay.

37. After the emergence of the petrol stations of the Portuguese supermarket chains, the price discrimination decided by Galp, Repsol and BP benefited the consumers with a low willingness to pay, but harmed the consumers with a high willingness to pay.

38. If glamorous publicity did not lead to higher prices, it would have an unambiguous positive effect on the utility of consumers.
39. One of the two types of persuasive publicity has an unambiguous negative effect on consumers.
40. The only reasons why publicity leads to higher prices is that it shifts the demand curves of the products to the right and makes these curves more vertical.

41. Informative publicity has only positive effects on consumers.
42. Persuasive publicity does not have only negative effects on consumers.

43. If the market of flats in a specific area is competitive, the price tends to change until demand adjusts to the available supply. As a result, we can say that the price of flats depends on their fixed supply in that area, and not on the incomes of people who live there. 
44. The reputation acquired by a company in a certain industry can give it a reason to diversify into other sectors.
45. If the increase in the demand for oil by China and India had not been so robust over the past decade, the increase in the demand for oil by developed countries would have been greater over that same period.
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